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QUESTION 1

By default, a Line Item type Business Process type ______. 

A. can never consolidate line items from other records of the same Business Process type 

B. can always consolidate line items from other records of the same Business Process type 

C. can always replicate line items from other records of different Business Process type 

D. can only a line item from Cost type Business Processes 

Correct Answer: D 

 

QUESTION 2

The Business Process type that consists of only an Upper Form is _______. 

A. Simple type 

B. Document type 

C. Text type 

D. Line item type 

Correct Answer: D 

 

QUESTION 3

Identify tworecommended best practices related to Schedule Sheet templates. (Choose two.) 

A. Add standard activities. 

B. Add dates. 

C. Add standard columns. 

D. Add standard folders. 

E. Add users. 

Correct Answer: CE 

 

QUESTION 4

Identify two permission levels in Unifier (Choose two.) 

A. Shell 
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B. Administration 

C. User 

D. Company 

E. Partner 

Correct Answer: AD 

 

QUESTION 5

A trigger element in a conditional workflow is defined ________. 

A. in Outgoing links 

B. in the steppreceding the Condition 

C. with the Condition icon 

D. in the steps following the Condition 

Correct Answer: D 
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